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#include<stdio.h> r#include(stdic,h} 3

#include<conio.h> #include<conio.h>

int main() int main()

{ {

int count = 0;

PEIREE (™ ONET) | printf ("%d\t",count++) ;
printE = (" INE"Y printf ("%d\t",count++) ;
printE S r2NETy - printf ("%d\t",count++) ;
peintE - (PINE")i; | printf ("%d\t",count++) ;
printf ("4A\t"): printf ("%d\t",count++) ;
printf  ("1O\NE") : printf ("%2d\t",count++) ;
return 0; return 0;

} }
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#include<stdio.h>

#include<conio.h>
int main()
{
int count = 0;
while (count <= 10)
{
printf ("3%d\t",count++) ;
}

return 0;
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5.2 ﬁﬁr"a while

while (expression)
statement-T,

‘while (expression)

{

statement-1. 1; s_iliitemen-l -1,
statement-1. 2’ statemen-1.2

statemen-1.n

;}atement- 1.m,

}
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count = 11

Show number from zero to ten
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f#include{stdio.h}
int main()
{
int count = 0;
printf ("Show number from zero to ten\n\n"):;

while (count<=10)

{
printf ("%d\t",count) ;

count++;

}

return 0;

}

R S — L=z b=

Show number from zero to ten
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Tsunsumaasnanay 1 damnmviva | While

. 2
int main ()

{

int i=1, final, sum=0;
printf ("Enter final number : ");
scanf ("%d" ,&final) ;
while (i<=final)
{
sum = sum + 1i;
i++;
}
printf ("Sum = %d",sum) ;
return 0;

LI

- v 3o @y ot 1 =t o= ; ;
« ingmie eamsnnduiiudull Tdsunsudedialan Yududie int main() 180
wineaNnuMIve Idssmyas ladanyl valilla@sunaadly
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53 M5 do-while

Fa FiA

do
statement-1.1;

while (expression);}
e statemen-1.1
- ~\
do statemen-1,2

{ statemen-1.n
statement-1.1;
’

statement-1.2

statement-1.n; Tn,,:

False

}

kwhile (expression);J
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* Process Analysis
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int main()

{
int count=1, sum=0;
do
{
sum = sum + count;
count++;
}
while (count<=100) ;
printf ("Summation of 1 to 100 = %d4d",sum);
return 0;
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5.4 ﬁﬁ"a for
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for (i1nitial; expression; change)
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* Process Analysis
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False
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Tusunsus.s viawasan 1 8 100 | for

f#include<stdio.h>
int main|()
{
int sum=0, count;
for (count=1l; count<=100; count++)

{

sum = sum + count ;

}
printf ("Summation of 1 to 100 = %d",sum) ;

return 0O;
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Enter a number : 2
Enter a number : -5
Enter a number : 0

Result : 29
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3. deladuTilsunsuisu'lidsy (nfinite loop)
dlofua int i=0;
3.1 for(1=0; 1>0; i++) printf("%d4d",1i);
32 for(1=0; 1%2!'=0; 1 += 2) puts("a");
33 while (i<7) printf("%d",i--);

34 do {
1+=3;
} while (1%3==0) ;
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